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Part E: The H20 is in the phase. The ¢

for steam=2.02 J/g°C. q=m<cgas T allows usto
determine the amount of heat for the liquid to
evaporate to steam. The phase occurs ABOVE

100°C.

TEMP. Part D: is called the Heat of The energy needed
here is determined using: q =m X H vaporization Where

H vaporization = 2260J/g. This phase change occurs AT 100°C.
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100 °C Part B: Heat of

Part C: The ¢ for water = 4.18 J/ °C. The amount of
energy needed to heat or cool water is determined by

using the following formula: g =m - c water T . The
temperature range for this phase CANNOT be

below 0°C or above 100°C.

g =m X Hfusion where
Hfus = 334J/g. This

occurs AT 0°C

v

0°C
Part A : The H2O is in the phase. The ¢

for ice = 2.05 J/g°C. The amount of energy needed to
heat or cool ice is determined by using the following

formula:g=m-Cice ' T. The MAXIMUM
temperature for the solid phase is 0°C

INCREASE IN ENERGY
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*Graph is not to scale

How much heat does it take to heat 12 g of ice at — 6 °C to 25 °C water? Round to a whole number.
Because the ice is BELOW 0°C you must start with the solid phase.
ga=

Os=
gc=

The amount of heat required to melt ice for it to become water goes through three
stages. g= qA+ QB+ qC

q:



How much heat does it take to heat 35 g of ice at 0 °C to steam at 150 °C? Round to a whole number.
Because the ice is AT 0°C you can start with the phase change from solid to liquid.

gs=

Qc=

Oo=

Qe=

The amount of heat required to melt ice for it to become steam goes through four stages.
J=QgB+ qct+ qp+ (e

q:



